oS 2oA /B = 30°< u,
AABC 9] Ho]E oot

SRR S



@ 41v2 @ 422
@ 442 ©® 452

3 4342




o SHATE]E ABCD ¢4 AC = A D
18cm, /DOC = 60° ¥ m, cABCD 2]
QM T-sholet.

a = cm?



ohe 47139l Hols ek A

D 7vV2cm? @ 7v3cm? 2cm\_ 135°
® 8v2cm? @ 8+3cm? B --16em--~
3 942 cm?




——_ ="




ot

=
=

Ao Hol

3

@ 30v2 O 30v3 @ 3242 B 3243

@D 30



7.

ok 73} 2ol W] Lol 10em 91 Uol sHE
Hol Tatelet.

® 200 cm? @ 200 V2 cm? 3 200 V3 cm?

@ 2022 cm? 3 2023 cm?

OEL

I



8. & "4 AB = AC = 20cm, /C = 75° &
o, AABC 9] go]& atofzh




T 189 DABCD of|A & tizbid e 4

Z0]7} 24cm, 16cm ©]1 T tiZAo]
o|2x= 7+o] 3717} 70° ¥ wf, nABCD
o] Wolg ¥r&dsto] de] 27t
Fatodat, (g, sin70° = 0.94 )

[: .
Qe cm?




10.

o2 23} Zro] 259 Zojr} 12 1 Heofl WHsh= FAHol
B0l Sy + S5 — Se & oot

7

g9



